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EFRATAI 1s AR A TIF EAX AT THAE PRR NI RE:

$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

-rwxr-xr—-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r—-—-r—-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor —--sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()
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$ python3 prog.py
$ python3 prog.py —--help
usage: prog.py [—h]

optional arguments:
-h, —--help show this help message and exit
$ python3 prog.py —--verbose
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usage: prog.py [—h]

prog.py: error: unrecognized arguments: —-verbose
$ python3 prog.py foo

usage: prog.py [—h]

prog.py: error: unrecognized arguments: foo
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print (args.echo)

IBAT IR

$ python3 prog.py

usage: prog.py [-h] echo

prog.py: error: the following arguments are required: echo
$ python3 prog.py —--help

usage: prog.py [—-h] echo

positional arguments:
echo

optional arguments:

-h, —-—-help show this help message and exit
$ python3 prog.py foo
foo
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args()

print (args.echo)
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$ python3 prog.py -h
usage: prog.py [—-h] echo

positional arguments:
echo echo the string you use here

optional arguments:
-h, —-—-help show this help message and exit
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args()

print (args.square**2)

PATN 2zt T4

$ python3 prog.py 4
Traceback (most recent call last):

File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4

16

$ python3 prog.py four

usage: prog.py [—h] square

prog.py: error: argument square: invalid int value: 'four'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args()
if args.verbosity:
print ("verbosity turned on")

Al i -

$ python3 prog.py —--verbosity 1

verbosity turned on

$ python3 prog.py

$ python3 prog.py --help

usage: prog.py [-h] [-—-verbosity VERBOSITY]

optional arguments:
-h, —-help show this help message and exit
—--verbosity VERBOSITY
increase output verbosity
$ python3 prog.py —--verbosity

usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument —--verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

Al i -

$ python3 prog.py —--verbose

verbosity turned on

$ python3 prog.py —--verbose 1

usage: prog.py [—-h] [--verbose]

pProg.py: error: unrecognized arguments: 1
$ python3 prog.py —--help

CFITgkZD)




(£ 50

usage: prog.py [-h] [-—-verbose]

optional arguments:

-h, —-—-help show this help message and exit
—-—verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",
action="store_true")
args = parser.parse_args()
if args.verbose:
print ("verbosity turned on")

AR ILAE:

$ python3 prog.py -v
verbosity turned on

$ python3 prog.py —--help
usage: prog.py [-h] [-V]

optional arguments:
-h, —-help show this help message and exit
-v, —-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbose", action="store_true",
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2
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if args.verbose:

print ("the
else:

1 r

square of {} equals {}".format (args.square, answer))

print (answer)

EH 2R

$ python3 prog
usage: prog.py

pProg.py: error:

$ python3 prog
16
$ python3 prog

-PYy

[-h] [-Vv] square

the following arguments are required: square
.py 4

.py 4 —-verbose

the square of 4 equals 16

$ python3 prog

.py ——verbose 4

the square of 4 equals 16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,

help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", type=int,

help="increase output verbosity")

args = parser.parse_args ()
answer = args.square**2
if args.verbosity == 2:

print ("the

1 r

square of {} equals {}".format (args.square, answer))

elif args.verbosity ==
print ("{}"2 == {}".format (args.square, answer))

else:

print (answer)

Al i -

$ python3 prog
16

$ python3 prog
usage: prog.py

pProg.py: error:

$ python3 prog
472 == 16
$ python3 prog

.py 4

.py 4 -v

[-h] [-v VERBOSITY] square

argument -v/--verbosity: expected one argument
.py 4 -v 1

.py 4 -v 2

the square of 4 equals 16

$ python3 prog
16

.py 4 -v 3

BTG, B LRI, G087 A —1 bug. FATAT LA ——verbosity
WO DA Z R ER B R E

import argparse
parser = argparse.ArgumentParser ()




parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args()

answer = args.square**2
if args.verbosity ==
print ("the square of {} equals {}".format (args.square, answer))
elif args.verbosity == 1:
print ("{}"2 == {}".format (args.square, answer))
else:

print (answer)

Al i -

$ python3 prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python3 prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:
square display a square of a given number

optional arguments:
-h, —-help show this help message and exit
-v {0,1,2}, --verbosity {0,1,2}
increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args()

answer = args.square**2
if args.verbosity ==
print ("the square of {} equals {}".format (args.square, answer))
elif args.verbosity ==
print ("{}"2 == {}".format (args.square, answer))
else:

print (answer)

FATFIAT F—FEfE count, RECE—AAESHH B TILK:

$ python3 prog.py 4

16
$ python3 prog.py 4 -v
472 == 16

$ python3 prog.py 4 -vv
the square of 4 equals 16
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$ python3 prog.py 4 —--verbosity —--verbosity
the square of 4 equals 16

$ python3 prog.py 4 -v 1

usage: prog.py [-h] [-v] square

prog.py: error: unrecognized arguments: 1

$ python3 prog.py 4 -h

usage: prog.py [-h] [-v] square

positional arguments:
square display a square of a given number

optional arguments:

-h, —--help show this help message and exit
-v, ——-verbosity increase output verbosity
$ python3 prog.py 4 -vvv

16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
# bugfix: replace == with >=
if args.verbosity >= 2:
print ("the square of {} equals {}".format (args.square, answer))
elif args.verbosity >= 1:
print ("{}"2 == {}".format (args.square, answer))
else:

print (answer)

R BRI

$ python3 prog.py 4 -vvv

the square of 4 equals 16

$ python3 prog.py 4 -vvvv

the square of 4 equals 16

$ python3 prog.py 4

Traceback (most recent call last):
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File "prog.py", line 11, in <module>
if args.verbosity >= 2:
TypeError: '>=' not supported between instances of 'NoneType' and 'int'

o Sl RY, BT ZH bug. WHTRUL, AR BALAT >=2 BER T REER.
o S = AR
EFAVBIIRA bug:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args ()

answer = args.square**2
if args.verbosity >= 2:
print ("the square of {} equals {}".format (args.square, answer))
elif args.verbosity >= 1:
print ("{}"2 == {}".format (args.square, answer))
else:

print (answer)

FATHIMIGIA T X—DH 0 KT default. AL EREN 0 K1 EW AL HABRE(EMA T AL . e,
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TypeError FH ).
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$ python3 prog.py 4
16
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()

answer = args.x**args.y

if args.verbosity >= 2:

print ("¢ to the power {} equals {}".format (args.x, args.y, answer))
elif args.verbosity >= 1:

print ("{}*{} == {}".format (args.x, args.y, answer))
else:

print (answer)
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$ python3 prog.py

usage: prog.py [-h] [-Vv] x vy

prog.py: error: the following arguments are required: x, vy
$ python3 prog.py -h

usage: prog.py [-h] [-Vv] x vy

positional arguments:
X the base

y the exponent

optional arguments:

-h, —--help show this help message and exit
-v, —-verbosity

$ python3 prog.py 4 2 -v

472 == 16

WS HE IR AT e PRGN A & B R SCA . DA 7B WA R 4R e ik R % g
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:
print ("Running '{/}'".format (_ file ))
if args.verbosity >= 1:
print ("{}*{} == "_.format (args.x, args.y), end="")

print (answer)

i -

$ python3 prog.py 4 2

16
$ python3 prog.py 4 2 -v
472 == 16

$ python3 prog.py 4 2 -vv
Running 'prog.py'
472 == 16

6.1 FERIEIR

FH@ IR, FMT—EHAEM A argparse.ArgumentParser LD . iERAITENEHE =k
add_mutually_exclusive_group (). ERFIRNIIEEHEILH TP GBE0 . (LRI MR H AR
R AR AHTEh e A B L RATRFGIA ——quiet #Ii, BR5 ——verbose IEGFAH:

import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_true™)

parser.add_argument ("x", type=int, help="the base")
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parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args ()
answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print ("{} to the power {} equals {}".format (args.x, args.y, answer))
else:

print ("{}*{} == {}".format (args.x, args.y, answer))

FATORE P BAEARHE R 7, HATH THUR T 20 E T — 2L hie. To iy, e X

$ python3 prog.py 4 2

472 == 16
$ python3 prog.py 4 2 —qg
16

$ python3 prog.py 4 2 -v

4 to the power 2 equals 16

$ python3 prog.py 4 2 -vg

usage: prog.py [-h] [-v | —-gq] x Vv

prog.py: error: argument —-g/--quiet: not allowed with argument -v/--verbose
$ python3 prog.py 4 2 -v —--quiet

usage: prog.py [-h] [-v | -9] x vy

prog.py: error: argument —-g/--quiet: not allowed with argument -v/--verbose
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import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_true")

parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print ("{} to the power {} equals {}".format (args.x, args.y, answer))
else:

print ("{}*{} == {}".format (args.x, args.y, answer))

HHEE AT ARMER. 8 (v | -q], ENEEZUERNTATAEN —v 3 -q, EARRER 6
Wi

$ python3 prog.py —--help
usage: prog.py [-h] [-v | —gq] x ¥y

calculate X to the power of Y

(Rt
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positional arguments:
X the base
y the exponent

optional arguments:

-h, --help show this help message and exit
-v, ——-verbose
-g, ——quiet
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